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QUESTION 1

In which of the following areas would ITIL complementary guidance provide assistance? 

1.

 Adapting best practice for specific industry sectors 

2.

 Integrating ITIL with other operating models 

A. Both of the above 

B. Neither of the above 

C. Option 1 only 

D. Option 2 only 

Correct Answer: A 

 

QUESTION 2

Which of the following should IT service continuity strategy be based on? 

1.

 Design of the service metrics 

2.

 Business continuity strategy 

3.

 Business impact analysis (BIA) 

4.

 Risk assessment 

A. 1, 2 and 4 only 

B. 1, 2 and 3 only 

C. 2, 3 and 4 only 

D. 1, 3 and 4 only 

Correct Answer: C 
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QUESTION 3

Which one of the following is the BEST description of a service-based service level agreement (SLA)? 

A. An agreement with an individual customer group, covering all the services that they use 

B. An agreement that covers one service for a single customer 

C. An agreement that covers service specific issues in a multi-level SLA structure 

D. An agreement that covers one service for all customers of that service 

Correct Answer: D 

 

QUESTION 4

Which one of the following statements about incident reporting and logging is CORRECT? 

A. Incidents can only be reported by users 

B. Incidents can be reported by anyone who detects a disruption or potential disruption to normal service 

C. All calls to the service desk must be logged as incidents 

D. Incidents reported by technical staff must also be logged as problems 

Correct Answer: B 

 

QUESTION 5

Which one of the following can help determine the level of impact of a problem? 

A. Definitive media library (DML) 

B. Configuration management system (CMS) 

C. Statement of requirements (SOR) 

D. Standard operating procedures (SOP) 

Correct Answer: B 
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